Vysledky priklada

Cviceni 8
a) ¢ =24
b) fx(2) =12z(1 — 2)?I{z € (0,1)} = fy(2), nejsou nezavislé.
c) PX>Y)=1/2
d) Covl(X, Y)=—2, Var(X) = 5 = Var(Y)
(e) E(xy) = 12
(f) frix(ylz) = G245 1{y € (0,1 — )} pro z € (0,1). Pro & ¢ (0,1) nenf
podminénd hustota definovana.
(8) EIY[X]=301-X)
1
(h) [y 3(1 = 2)fx(x)dz = 3
(i) Var[Y] X] = (1 - X)?
a) c=6/7
(b) E[Y | X =] = 2z pro z € (1,2), jinak nedefinovéno.
E[Y|X]=2X
(c) EYX3) =21 E[YX?| X]|=2X1

3 L
. Var(Z)=| 8 %
80 80

PX+Y <1)=1

CE[Y X=X
Var[V | X] = X2



